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\i1'14t{ ~5'<lii'1 ~ ~ ~ ~ 3R'flfa \3ct1'<I~O\5 t5)J:t~IIJ ~ ;<j1~IRCf>wan ~ c6~lI
~lffUT ~ '1ft ~ ~ Q'Rllfqd 5.00 ~O mfa1TI q;:f 1If4 ~ -qffi" fffir ~ ~

-qx 'lf~ C[a110(14 0 I Cf>T Q ICfCJj(;'Fl I

Icp~~61 ~q)T~ I ~ I 7 I : I ~ I
~1Wf qtf

1 "fICf-c;ct«I ~ 1cti'1 ~ 1.00 68.00 68.00

2 aBl ctt ~ (~ QJCR ~) ~ 1.00 652.00 652.00

3 3lfl:l+lcttcrN ~ (t#fcN:ill)150 ~. >rfTI ~O ~ ~ >rfTI no "410 150.00 204.00 30600.00

4
~ -c;ct\1R'f ~1!1UT -gg ~ 'qJ(1-~ cm- f.1Bfur -c;ct

>rfTI ~ LS 25000.00 25000.003A ~ ~ (q\(cg&l~1'1 tcP ~ cfi f.1Bfur -gg)
5 ~ ~ 30x30x45 ~O >rfTI ~ 1000 4.29 4290.00

6 f¥T1ffUT ~ {f'1T'1T ~ 1.00 368 368.00

7 Ll'Tm ctt ~ (~1Wfcrf) >rfTI Ll'Ttr 1000 5.00 5000.00

3A czm ~ <F5[,~ 3l'TvrRcl\il ~ -c;ct3A
~ 1.00 900.00 900.008 ~ lR czm

Total 66878.00
~crf

1 ~ 'lfXFf 30lT30lT45 ~O >rfTI ~ 1000.00 1.00 1000.00

2 Ll'Tm ctt ~ (~ ~) >rfTI Ll'Ttr 1000.00 2.00 2000.00
LI'Tm ¥fA cpT<f -, >rfTI Ll'Ttr3 1000.00 3.00 3000.00

4 ~ er ~ICI("1lil~l >rfTI Ll'Ttr 1000.00 1.72 1720.00

5 ~-~ er ~ (GT ffR) >rfTI Ll'Ttr 1000.00 2.26 2260.00

6 ~ er '0IT lR czm >rfTI Ll'Ttr 1000.00 0.3 300.00

7 ~~ crf -ij f[amfqur ctt ~ er \('<5)\('<5)ICIlR czm ~ 9~ 426.00 3334.00

8
C[a1I'i!lqul\(ef5IT cfi ~ '<jcltllf1,~ -c;ct \RlC1'1~fl("1

~ 1.00 320.00 320.00
'4GT~ cm ~

9
"<jX1ffi cttcrN/~ cfi ~ 4.00 "410 ctt ~ ~

~ 1.00 70.00 70.00
~
C[amfqur xl ~ m ~ ~ ctt 3lfT;:r "<jX1ffi

10 \i1P I\(i) Cj) (j I -gg ~1ffUT '(j'm 3lfT;:r "<jX1ffi \j~ '<5);of) 11 cpT<f
-gg Cl1Fch1 ~'i/ f1[Tt Ri~'icm ~l (f116'1 t-=rr

3l- ~1!1UT ~ 1.00 500.00 500.00

ET ~1(f116'1 ~ 1.00 500.00 500.00

3A czm ~ ~, Ll'Ttr ¥fA -gg ~, ~ ~
~ C[amfqur cfi -wm Cft'If xl m -gg ll1fR~ 'fftc

~ 1.00 644.00 644.0011 crf -ij GT ffR l{)icl~llf?l ~ ~ ~ cfi ~
>ff1N -c;ct ;g ctq>fj e~I'1 ~ cpT<f

Total 15648.00

~~~-------------------



1 xNor ~ et> \J1RRf ~~ ~ et> 'H5I'!1!5I1Cl er ~.I)fqUf
cm<:f 12 lj"ffi ~ 12 lj"ffi 5112.00 5112.00

2 C[~ ~ et> ~ ~ t:ITff'[fl ~ \JiI C'1 'i~~ C'1
~ cm- OCRTI ~ 1.00 320.00 320.00

2.2 wan ~ / ~ et> ~ 4.00 >fio ctT ~
~ 1.00 70.00 70.00"ffi1l) ~ I

2.3 C[anxNor ~ ~ ~ ~ lJT4TuIT cm- ~
wan \Jl1l1flCj)d I ~ ~e:rur (f~ ~ wan \3~ 1!5I"\11l ~ 1.00 500.00 500.00
cm<:f ~ CllFcffi III / fl fTlRlll1 cm- ~1 ctll6 'i ~ I

{l" ~lctlI6'i ~ 1.00 500.00 500.00
3 3P'll" cm<:f ~ B ~ C[f& @ 10% 650.20

Total 7152.20

1 (~3fCl), ~ 3PJXe:rur Cl:[<:f \3q'<l<tdljfll'! 7152.20
2 ~ G'<1 B ~«11RI d C[f& 10 >rfumll 715.22

Total 7867.42

1 (~3fCl), ~ 3PJXe:rur Cl:[<:f \3q'<l<tdljfll'! 7867.42

2 ~ G'!T B ~{d IRI d C[f& 10 >rfuml 786.74

Total 8654.16

1 (~3fCl), ~ 3PJXe:rur Cl:[<:f 3lq'<1<tdljfll'! 8654.16
2 ~ G'!T B ~«11RI d W9 10 >rfuml 865.41

Total 9519.57

1 (~3fCl), ~ 3PJXe:rur Cl:[<:f 3l4'<1<tdljfll'! 9519.57

2 ~ G'!T B ~{d IRI d C[f& 10 >rfuml 951.95
Total 10471.52

v

1 (~3fCl), ~ 3PJXe:rur Cl:[<:f 3lq'<1<tdljfll'! 10471.53

2 ~ G'!T B ~'{{'11RI d C[f& 10 >rfuml 1047.15

Total 11518.68

1 (~3fCl), ~ 3PJXe:rur Cl:[<:f ~r:rmx 11518.68
2 ~ G'!T B ~«11RI d C[f& 10 >rfuml 1151.86

Total 12670.54
~qr:f

1 (~3fCl), ~ 3PJXe:rur Cl:[<:f 3lq'<1<tdljfll'! 12670.55

2 ~ G'!T B !>l{d IRI d C[f& 10 >rfuml 1267.05

Total 13937.6
G.Total 164517.72

Or say 164500.00

(~O-'I'f1 ~ :q1.fl.~d 6\iTR l1fq W lIT?f)

~~~
~rcr;:r rr=f -q'J:ll1t

ct5:;!1~;r


